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General Instructions to the Examinees:

1. Tenef Tagem 91 93 99 W Ak Sifqerdd: faw |

Candidate must write first his / her Roll No. on the question paper

compulsorily.
2. et o A sAfer €
All the questions are compulsory.
3. Y TR H 3| & TE IW-YEew | g fag |
Write the answer to each question in the given answer-book only.
4. U HH® 239 24 F el fawen § |
There are internal choices in Question Nos. 23 & 24.
5. U AR 2Y 57F Al ATEHS § |
Question Nos. 2 to 5 are Very Short Answer type questions.
6. oy & T § sk wm €, 39 9ft 9l 1 T T WY Faq fad |
For questions having more than one part, the answers of those parts

are to be written together in continuity.
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7. WHHEN 1H 4 9 (4, il, @i d9 iv )T | T&E 90 % OR faewed I, 9@, |
IR g ™ ¥ | Ul SIER Skt B FEER difast s S
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct

alternative in the answer-book at a place by making a table as
mentioned below :

U9 SRR e ST hT TSN
Question No. Correct letter of
the Answer
1. (i)
1. (i)
1. (iii)
1. (iv)

1. () fdn o d y TR Safien €9 9 %9 gecyu §, Fife guE ©
(37) DNA &I 31f¥es amn (¥) DNA &l &H AT
(d) RNA &I 31f¥en A= (T) RNA &I &Y A= |

In the sex chromosome,Y chromosome is genetically less
important, because it has

(A) higher quantity of DNA

(B) lesser quantity of DNA

(C) higher quantity of RNA

(D) lesser quantity of RNA . %
() I T YT 3aeE ¥ TR T IR ga geref ¥ yRew et €, @ 39

ERICTEI

(31) =9 HSH W @l (&) drers Qe el

(") TS @l S (3) 99t @ @ |

If food chain does not start from producer but begins from dead
organism, what are they called ?

(A) Grass land food chain (B) Pond food chain
(C) Detritus food chain (D) Ocean food chain.

N —
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(i) e T Ry foedt w1 s F1 T a1 7, @ IEH TH A fawmR w1 A

€

(31) AN sk (3) FAETHT

(7)) frarefewar- 22 (3) =W |

If an infant weeps like a cat, the name of the syndrome is

(A) Marjar Krandan (B) Klinefelter’s

(C) Philadelphia-22 (D) Turner’s. %

(iv) afc Th @ §@en ¥ aE-siei-Agdh-gi-ae | %HEW: 1000, 100, 10,
19 0-1 forell At S Tgodt €, o SG9R A

(1) et g (&) &= Ehm
(|) efEfda ©m (T) &Y B |

If in a food chain, energy reaches in grass-insects-frog-snake-
vulture are gradually 1000, 100, 10, 1 and O-1 Kk.cal, the

biomass will gradually

(A) increase (B) remain same
(C) no change (D) decrease. %
2. Tuea & FoEl & FE g Hew fafay |
Write any two importances of Mendel’s laws. % +% = %
3. o 9 Sgfran § o fafEw |
Write the differences between euploidy and aneuploidy. T +% = %

4. fordl foore &3 § 9@ W o7t UG T Sge % Aadrdl & Hed H qaieRu
ST H F Fed § ?

What is the study of environment with reference to the interrelations
1

of plants and animals present in a particular region called ? 5
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11.

12.

4
TR Sl A0S e bl 1 hR0 § 2

What is the reason to call autotrophs as osmotrophs ? %
YeToER ggTUi g8 el 99ud & 2

Where do the evergreen non-deciduous trees grow ? 1
A 9 B Sta grenfient | oR fafa |

Write the difference between red and green biotechnologies. 1

e fordt =afed 1 &89 Yoy o1 T4 | fe@E 7€ ¢ @1 2, O I -1 U7
¥ 2 98 U Ty foerfiq 1 &t & SR § 2

By which disease is a person suffering from if he cannot see in dim

light or at night ? Deficiency of which vitamin causes this disease ?

1,1
2 T2 T

W & 9 H HH &t T el & qE fare & 9 faftae |

Write the name of two marine algae which are used as food.

1
g + 5 =1
TS fRd wed § 72 399 S &iE | faeR fafau |
What are allergens ? Write two symptoms derived from it.
1 1 1 _
7tz 1 =
G (S ) fFE wed € 2 T 3II@A0 g SHERT |
What is genome ? Explain with an example. 1+ % =1 %

FHfm Tl 1 T 3294 fafau | sust & wicsdl & a9y |

Write the main objective of artificial insemination. Explain its two

difficulties. % +1= 1%

P—19-2—Science II P-GH7)



5
13, TR FYS AW (TT) WIS o (tt) NI F HH & F, MG dF &

gRomdl &1 I Fie IRy |

Draw a checker board with the result of crosses between a pure tall
( TT ) and pure dwarf ( tt ) plants up to F, generation. 1 %

14. 9 WreEfent 1 fafedn & 8 w8 a1 sy fafeay |

Write any three uses of biotechnology in the field of medicine.

l+1+1
2

2 T2
15. il g €7 AT o AT a9 &1 oA 9M fafan dor g9 amaisti ol T
T TG STl | BIE! SH ATell qoel &1 AW fafag |

=1

N =

Write the scientific name of the vector of malaria and dengue diseases

and give the name of larvivorous fish which is dropped into the pond

to destroy the larvae of it. % + % + % =1 %

16. R Iea vou fafecn fod #ed € 2 39 a0 & <1 3uan fafey |

What is the bloodless surgery ? Write two uses of this technique.

bebede1}
17. FUwor 61 gRfad SIS | WEH & | oee WK B 9 A o fasri &
HHART |
Define malnutrition. Explain two diseases in human body caused by
the deficiency of protein. % + % + % =1 %

18. HMd THforA foha Siram] & I fowan S gehal § 2 39 Sgfo &l = el Al
g 2

From which bacteria is human insulin obtained ? What is called this
. . 3 3 1
insulin ? T+tT = 1 5
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19.

20.

21.

22.

6
frefafeg wf s qai &1 g IR § = fafge | 376t w69 9 SE-9 AT 8
S| E ?

(%) de ad
(@) hfeerm
(1) STMAEN |

Write the function of the following minerals in our body. Which

diseases are caused by their deficiency ?
(@ Iron element

(b) Calcium

(c) Iodine. % +

TUX a7l o &1 Y a1 A9 A Fel TR 2 AT TR A Welt § foRe R e
g2

Why is the blood group O named as zero ( O ) group ? How does this

blood group differ from blood group AB ? % +1= 1%

WM HIS & Sta Ik 1 Gies guie HIfST T W9 91 w1 &1 fafy fafee |

Describe the life cycle of silkworm with diagram and write the method

to obtain silk. 2+1+1=4
Sifgss @R a1 I TR HI GESRY | HARHA R HEd © 7 FESiar
herh el hl ATHifehd oS SATET |

Explain the bio-manure and vermi compost. What is mycorrhiza ?

Draw a labelled diagram of symbiotic mycorrhiza. 2+1+1=4
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23. B T T &l Afvgeh =1 &1 aredq-fsher gfaeq 1 9= smifse | gfaeq &1

AHifera o FEY |
AT

Iafeada i gRIfa ST | FRON 6 YR W IARadq fhad IR & BId
? 7 fog Saaftads =1 W@iia sh@ g’ 9uemey |

Describe the molecular structure of DNA of Watson-Crick model.

Draw a labelled diagram of the model. 3+1=4

OR

Define mutation. How many types of mutation are there on the basis

of causes ? Explain point mutation with the help of linear diagram.

1+1+2=4

24. YUY FAMIRIOT T YR T THSET | Tk &1 Wi sTR@ off FART |
AT

TGS S TA U dheteh 91 € 7 3H deheleh 1 Y@T 3IRG IET | T HIg

TR AUl 3G Ta 3k 319anT fafan |

Explain the process of animal cloning. Draw in brief, the linear

diagram of the process. 3+1=4
OR

What is recombinant DNA technology ? Draw a linear diagram of this

technology. Write any four important products and their applications.

1+1+2=4
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